2.22.16

er uses a forklift to move boxes that weigh either 40 p‘gu<nds or 65 polskds each. Let x be ther

1d boxes and y be the number of 65 pound boxes. The forklift can carry ub to either(45 boxes
i : : o !eﬁ?-ﬂc\anor_: :
hich of the following systems of inequalities represents this relationship? L

¥ +65y < 2400 X + 2 <2400
2 40 65

= x+y<45

-+ 65y <45 40x + 65y < 2400

y<2400 X +y <2400

y-plane, if (0, OYis a solution to the system of inequalities below, which of the following relatio

n a and b must be true? O < 0 + & o <-Q_, Or

y<-x+a
y>x+b 0>O+b O>b r\_;]
3 B) b>a 0) la| > |b| D) a=-b



